www.Padasalai.Net www. Trb Tnpsc.Com

BurewriLmd @evLiumeug Csirey - 2024

USSMbd eu@LiLy Loy ereml
&6vefl LD
Curd : 1.30 wenf o ued - o whluCuekash : 50
I sflurer aflwLowg CpitQs058 ayys. ’ Tx1=7

1.

10.

1.

A asinp sisfillsit sufleme: 2 x 3, B eveitp pysmlifienr euflene 3 X 4 srefied, AB ereitp yewfuienn
Bredssiiar semreniaams :

=3 )4 ' g2 . ‘") 5

syt 3 (5 7 oo i
¥ 5 7] |g 5/ 660 X et sjemflenws snenia.

=9 (2.2 12 o

. @®m Camyrsdenr e_mufglglgb@m. Siseir BlpeSler pesAp@b e sier afldlgn /3 :1 eaafied,

Ghlwenend srgoid gHns Cansw SleTeunsug

() 45° L &)300 &) 90° /) 60°

- @@ Camnyrgdler e wmb 60 5 k. @Rueens snguw gpps Camewnd 30° eNmimg 45°

<p& e WBb Cung Canyrsder Bpeorang) X 8 @ending srafled X st iy

=1)41.92 8 =4)43.92 8 @438 ) 45.6 5
Spib 5 QS pHmid smywnb 13 QsS e erw Crireul L sabifler e_wiib
) 12 Qe.8 . )10 Q5.8 S @H13Qss " ) 5 Q=8

15 Q&S o wipid 16 Qs allL(pid Qsneni. g(p CriteuL’Lé suibiller euemeTLmLIYy
=) 601 #.05.18 =) 687 5.0s.8 8 120r #.05.5 m) 1367 #.0&.8

. @ @®urs swaiun g6 auemruLLD @ Q4G
3l) CritéCasr® ‘9‘1,) QL Ltb . B) ureemerwuy  m) Siflureusnerwid
| ued -
. amaCugib 5 alamisense alamiwe. (dlem aevr 14 sUL_mu o) 5x2=10
a; = |i - 2j| emeu 3 X 3 auflensenwis Qanemr il A = [3;] Vemens snenira.
(1.9 5 7
G il oatiadl R ‘3 2 ‘0 A+ B = B +A sflunias.
8 -3 1:-0 .
6 Camynb gamrsgs Oem@ssns e amg. Canyrsdear onlugHiedmba semyued

48 15 Cignemeveiled o sirem ey steMuledmig Caryr e-sfllenr abpaCarenms 30° crafed,
Camryrsdlear e wmd snewrs. - :

1318 ewngpsier @@ wrsHear e EATNmBES WHADNG WISHT 0 &8 LHDID g s
app&Canems wHpb PpsssGarams ywapCu 45° wppib 30° aefed Brent_neug

 wrgdler e WTFMBE SNETS. (\/5 =1 _732)

12.

704 #.Q#.15 QongsLs YpriLTliy Qsrewi g satbiler b 7 QFS erefled, Siga Emywimb

STERTS, '

/ -
Kindly Send Me Your Key Answer to Our emaifid - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

13.

4.

m

15,

16.

17
18.

19.
yereRulefmBg 60° anps Caramsdled Amepulilsr e &8 SimwpgieTengl. Cogibd SICs

20.

21.

- o) Wznared Cappwd spd) Hipieys.

www.Padasalai.Net www.Trb Tnpsc.Com

2 X aenfigd
o® CammgHair ypLiLTUy 154 8.8 aafied, speat el L tb snewrs. -
1 4 9 '
A 19, 95 eredfled (AT)T=A sfurhés.
9 36 81 ;
ued - §

amaCugith 5 clamisenie ehmLwe. (clam aamr 21 sLLmu o) 5x5=25
Siereumeustaupenyd sTOSgI&ST(H s g6t mmu'u.lmg)

i) epemevall el (3 X 3) : (2 wHiClisrraar)
i) Heveudled giewfl (4 X 4) (2 ‘mﬂdaumiatﬁ)
iii) 100 Siewfl (3 x 3) / (1 wHiClicwras?)
(7 8 6 4 11 =3
A= 1 3 9|B=|-1 2 4 siefled, 2A + B snewrs.
\—4 3 -1 7. 5 -0 ;

A 1 2 -7 6 | |
i 3) B=[ 4 2) C=[3~- 2) mafled A(B + C) = AB + AC anews.

B stiLdsd somsmTelasssdear Gm ussmisafgid sLe0ed Lienmd Qewidsinper. B
suuRsMmisn somsoraassgdar e sfullar gppsCarsmmsst pampGw 30°
wphpid 45° @b, seomsmrallatsssar e wrb 200 & aafled, F®k SLLOSEDHS BenL_Cu

e_siteT QIFTMEIMOIE SHTETIS.. (f 1 732)
1.6 ¥ s wreter feaner e g Heair Guoed amm,r_r,gumsrrgj 5mquﬂg‘umm @

yerefulleSimig LI L;ﬂm o &fluneng 40° q;pg)a Caremrgdled e siengl e1afed, LTLgSleu

e unengs snews. (tan 400 = 0.8391, 43 =1.732)
@if - menenuilel b WHDILD n_u.mruassﬁlm aldlgd 5:7 @GL. ST euemaTLIFIL | 5500
#.05.18 aafled e_mearuliar SyTD WHOIL LWL STEwTS.
&) 45 Q&8 e wyeier g Qe ssew_sdlear Gmup Sprrisst (peopGw 28 Qs.s mtpgjm
7 Q5.8 c1afled Pe_sacwwiL St Seuseney HTeRTSH. | .
(ysog)

ugH - = |
aflen L wefl. - 1x8=8
o) X2 — 9x + 20 = 0 cusnyuL1b euenThgl £m|56ﬁlm gmmmmma, SIS, -
(o)
3) 4 Qes cg,lmpsrrm UL LD eusnrhgl iS6 eowwsHedmbg 11 CQF.18 Qpncmosﬁlg},oum
- @ yetsflews @ﬂm Siuysiefluflellmb wl—l-ww@ Sremi® %ﬂ@csn@m
UMTS.

. KRkRAww
v

Kindly Send Me Your Key Ar‘vef to Our email id - Padasalai.net@gmail.cc#n


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

SECOND MID TERM TEST - 2024

¢ Standard X " RegNo.
| MATHEMATICS

Time : 1.30 hrs . Part-| 4 Marks : 50

|.  Choose the correct answer: ’ _ Tx1=7

1. If'A'is @ 2 x 3 matrix, and 'B' is a 3 x 4 matrix, how many columns does AB have?
a) 3 b) 4 c) 2 d) S
 Frdtiememicx g 2x+{ 1 3)of5 7Y
.2.. Ind the matrix ‘X’ if 5 7)7\o 5 :
- 22 2 27 2 1. 2)i™s 2 1
P Le e By ) ey Lk AT
3. Ifthe ratio of the height of a tower and the length of its shadow is J3 :1, then the angle
of elevation of the sun has measure o e
a) 45° b) 30° . c) 90° . d) 60°
4. Atoweris 60 m height. Its shadow reduces by ‘X’ metres. When the angle of elevation
of the sun increases from 30° to 45°, then 'x' is equal to ; .
- a) 4192 m b) 43.92m c)43m d) 456m
9. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be b Fiad ’ Sl -
a 12cm b) M0 cm c) 13cm ~d) 5cm
6. The curved surface area of right circular cone of height 15 cm and base diameter
- 16cmis e e
a) 60ncm?  b) 68r cm? c) 120x cm? - d) 136n cm?
7. Graph of a quadratic equation is a : i :
a) straight line b) circle c)parabola . - d) hyperbola
_ ; : : : Part -lI o : ;
Il. Answer any 5 questions. (Q.No.14 is compulsory) = ‘ 5x2=10
8. Construct a 3 x 3 matrix, whose elements are given by 8;=i-2j|
1 9 5 7\ ‘
o, g AT[3 4 MBS A BB A
8 -3 0 ARG ‘ _

10. A tower stands vertically on the ground. From a point on the ground, which is 48 m
away from the foot of the tower, the angle of elevation of the top of the tower is 30°,

~ Find the height of the tower. ; :

11. From the top of a tree of height 13 m, the angle of elevation and depression of the top
and bottom of another tree are 45° and 30° respectively. Find the height of the second
tree. ({3 = 1,732) i s A ” |

12. If the total surface area of a cone of radius 7 cm and 704 cm2. Find its slant height,

4

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai:Net . _ www. Trlb Tnpsc.Com

. _ _ 2 X Maths

13. Find the diameter of a sphere whose surface area is 154 cm?,

1 4 9 ;
A=(4 16 36 \T '
14, If , show that (AT ) -
: 9 36 81 5 (A : ) A
| Part-l N

Wl. Answer any 5 questions. (Q.No.21 is compulsory) Sx5=25

~ 15. Define the following matrices with examples.

-~ a) Diagonal matrix of 3x3 order. (2 marks) ,
b) Scalar matrix of 4x4 order. (2 marks)
c) Identity matrix of 3x3 order. (1 mark)

(7 8 6 4 11 -3 _
16.i,A=[ 1 3 9|B=|-12 4| 6nd2A+B g3
- -4 31 7 5 0

abl Mo A008) waf=T 8 ot
7. 88521 3] °F(_4 2) “T| 3 p):verifythatA(B+C)=AB+AC

18. Two ships are s‘ail'ing in the sea, on either sides of a lighthouse. The angle of elevation
‘of the top of the lighthou'se as observed from the ships are 30° and 450° respectively.

If the lighthouse is 200 m height, find the distance between the two ships. (J— 1 732)

19. A statue 1.6 m tall stands on the top of a pedestal. From a point on the ground, the
8 angle of elevation of the top of the statue is 60° and from the same point'the angle of
elevation of the top of the pedestal is 40°. Find the height of the pedestal.

(tan 40° = 0.8391, +/3 =1.732) _
20. The radius and height of a cylinder are in the ratio 5:7 and its curved surface area is

5500 cm?. Find its radius and height.
21. a) If the radii of a circular ends of a frustum which is 45 cm high are 28 cm and 7cm.

Find the volume of a frustum.

kL

(OR)

b) State and prove Pythagoras Theorem
: Part- 1V

Answer any one of the following ‘ 1x8=8
a)". Draw the graph of x2—-9 x + 20 = 0 and state the nature of their solutions.

(OR)
b) Takea pomt which is 11 cm away from the centre of a circle of radius 4 cm and =
_ draw two tangents to the circle from that point.

ﬁ**i***
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Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

www.Trb Tnpsc.Com

Seond M*O' T 'utz 2024

Q'EWQMJ - KY
Vl“‘m"miﬂ‘fo - Awwer koy

TIRUVALLUR  DISTRICT

/-/—f\rk RATADHURA) MA'»n-u TEACHER.
GQHSS — PodATURPET - (31208 .
e
L L]
To Y i 2) b <%, —‘> )b o

b cP)vsé"ﬁO»L"ﬁ
K b hziim 8 &) l2e0 Y

1) <) ")awa.lob"a (lymmmwt?:)

R g TN
) 2, 2 o

3X3 maLA‘xA: ay @, Ao
3x 3 Redt L
Q.= I -200] = (1-2] =it[=

a, = |1-202] = |t-g) = 3] = f
oy = | aew) = [i-b] F sl =8
Gy = (2,20)] = |r-2l =0

Ryy = [2—2(1}‘ & (2-'*' = -2l =2
Gy, = (2 ol = |2 -¢| = F¢l=¢
6y, = {3_7.c')| [3-2) =1

gy (3—2&)\ = ‘5"F, = HIC!
N T _209)| = \3—6[ e

" aJ
Kindly Send Me Your Key Answer t br ema'l id - asalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

| 4 www.Padasalai.

q : ¢ v 6 WWW!.’T Tnpsc.Com
) A+B = g g +[3 3} = [s -rT-———CD
F§ =3 . 0

q -3
g 3 | | 9 L b
pA mole e B | 2L 7} Tt
{ © ¥ -2 W ot o
Fvom © & © Asp = B+A
L | |
C-
7 g, @bu &8 ABC
fan o = "
an % = ) @
8 A (f.?Lg J 3
l b G
= Tan . Duh. A BB 4G
e ﬁ 4‘3 \ @‘“ 3 .g——_:_._-“
IQ o
AR ¢ T ) o ' o i
, D o YQR&((D)MJN'Q A 1S £
A‘B: CE = \2 m f&lf 30 'g(gT
IJ?J_.'DEz’X'? )L 20 - N
(ln b ADE° N Tn W A ABC
TGJ)#S" = "A_E 13
@35 =
R
( .Y ‘
#E 1.
2
AE = o | >
T, EP=n = (3Va = 22.516

QW“}}&’} 2,,9“‘, CD = CE4ED

n

134 22.51b

e

(2,

)1

352w
X 3 — - f_ —
Tsa oF lons

ﬁ— = T"((l-(—”() = To¢
CUt 07‘9177“937 > gjp:x/()u 1) = o4

O

2 = .32 =]
Kindly Sefferda¥ear Key &ﬁgw&:ﬁo M;%| id ;@adasa?a?ﬁe@@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

P  www.Padasalai.Net www.il;rb Tnpsc.Com
,}] S\M{:am avea Jf‘ SFL-M& = H45Y = 154 ™

@b«q}?‘r ypuosy

L
A x ?‘_:’2:_,-(7 = I¥y

!
(. o
¥ = Tn1x%
) g 7KJ’::‘}_’I"’
\ Y:—", aa'd

k) i ig ) &9
A b 36
9 36 €I
T r i
i 4 S
k16 3b
9 3b 8
| il 7
T

. .
» L Sk
ts?a) jbiaaom@ Mabiix @m“ﬂ‘:ﬂ 97% . |
A S‘?wa)‘l— rv\aju'x 5 J‘A Q’Q
LA GON ant—
excp.ft' Hose 'n Hhae lo-—oa‘\? 8" g
y called o & '
Zeao v xR | Qgﬂ"\ | @muw’; :
A6 H45 ANetWN @HHTE s 2
buguage Bgue  2eim 91067«1)5/ 2 @
giﬁ\jmﬁ;& 7614% 9%‘9) okl (oo 2 Aot B5E,

N i
E)(Qz‘nf . o -3 >
T D B I 3
Kindly Send Me Your Key Answer to Our email id - Isél‘aasalai.net@gmail.com

|
4
M



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

r WWW. Padas alai.Net www. Trb Tnpsc.Com

b S i ""‘INX 5-»../&9 Dok

. A ohaj,;unj maﬁux " wh ek
all the ,0—0.&1\3 .L o) M oAs 0.7\.41

,'/, C"-M-‘A) a SQA_Z« "“1;"‘""‘
A @mud\‘.g 9’«-‘\-]” om0

G‘Mﬂ.n&.'(, i Qfm"f)gw Feaorh N\-"o"f
9!97 Aok Aol Aoniub\.
E,(MP(‘ {\S— 0 (o] ©
OTA () Y o o
(o) 0 e~ o
[® “ o S

MS lmatux
Y6 Fys B G Gmides
@mam“m%w | ggb’l,la p fo;} kgfm'ff)b(

2 A0 Bl—mwﬂh'«,u @@M,)m\l 9?&)
9;‘:1 Aos B Hemt GTMUUKb

k.

o %

ATl“ﬂﬁW o s

e .
€;cwdg‘1 ' C{g: o ¢ o
O o [
Y | .8 % 4 S
248 = 2 [ 3 9+ [ 2
-5 3 -l

I TR P R o S
da 0 ¢ | & + |~ 2
-9 e el T 2§

Kindly Send Me Your Key A swqr to Ouy,email Ldﬂ? dasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

>
1) W 3 Py 7 6] [:t, QJ
P & ! IR e B

"

>
N
1

I

ks g éJ (—br 3
~ 3 I 2 iy
~7 12 @{
= -3 ¢ -4 § :[ -
AB+A¢ - L—-lﬂ q],*- Elé o) 32 L"

Fromp O &®

ALB+C) = ABTAC

Ad-> L..‘Zkf'ﬁume |
Forsipomg st 2eel’
C/ D — SQJUA)A:;..SL:[J.S 45 30
¢ B
Tn ﬁal\} b ABC, To wmgts A A8D
Tdbn‘{—!—’a = = T&f)BOa = o0
B 2D
| jnd 200 ___L__ o R eso
Bc @ o R D {

"? Rp = J,oo@
B> = 344:4 m

@@ %500356%@ @n&@d 2ot ov a)),fwfj
T diotones hefbean e T Ships

CD = Bc+ &

= 200+ 3444 = 546 4m
Kindly Send Me Your Key Answer to Our email id - Padasalai.néeegrateom



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

" www.Padasalai.Net

www.Trb Tnpsc.Com

Iﬁ) B A A
1.bw
AB - Stabis - Haw L
RC ~ Pederted - OLe L |
) g
A&:lvtv E‘ Q’.‘
L&P— 66 - L’ 3 ¥
& 2
it ";jl‘}ﬁ GeD T bk B ACP
\ AC
° _ L 6 - AG
-t‘\”’ o = e T;n ) poe
\~6+f~
0+82%1 = l‘_ Va @ B e
cD cr
C P - I.L-Q—lﬂ (__@
Froo O, L‘ he
\?3‘1\ - —
° [ b+ h
Do 0 5
')
(.82 (1.6+h) = b3
| (.3¢26 + k(o.?S‘il):c\(l"T“-)
’[ - - 2 —L’(o'sgﬁv
l sk = h (oY ¥R TN
| D\ — l~‘>'h9
‘ / t
% S R 3
) Y:h = 5:7 3 r_797,7
S h
L.\C-Q.a)w — $So0 (» Y"-'"Tx
it s 5%
QWXK = S’;OO T: }X
3
ox 2%y S hxh = 5500 m'gj
”'7 L‘L 700 X Tr7
T xS
h = TxTl = ¢ (v

Kindly Send Me Your Key Answer t bUFEI’%gi-ﬁy- Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalz.'Net www.Trb Tnpsc.Com

9") a) = AV Ctw RS 28¢Cm» Y = 709

V(Yf,ww. O'f- rFmo‘t:ao . ’Z‘[TA <R:Qr+19
@?\u‘;i»r-:-yt.' r HortIim
)gk A‘ s 49’[9’92—”’2‘9“}&

i
£
q
ool 2 xqs'['”‘f*'%*qj
3 7 - 147

o L 2h e S X
=N e d

3
. 4gslo C»

| —

Thonresy & m}@ﬁu SPLE

9) wﬁja‘)’ ]
AR @)mgyy
hufy 057
9[5& Oo) @was;m«\l\} vr;'arr\"
Ount c,) Entaml—

@-‘ﬂ";’)} U“mtuo
cosef) + 48439 38366

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

